| dE/dx estimator 1 | | dE/dx estimator 2 |

0.95

- - - - Entries 18671 — - - - - - - Entries 18671

C : : " : | Mean 2.72 = : S : : | Mean 2.526

C St:dDeV: :1-217| 0_3:_ ........................ A St:dDev: : 1.15|
025__ """ I Entries 18669 r Entries 18669

- : : : : : M . - M 2.526

B : : : : : S:jagev 12213 0.25 [ si;agev 1.15
] et 1 Rt S e e - Pl

R [ B i 1 LR S
oasf}i ot T

C : : : : : : : : : 0_15: --------------------------------------------------------------------
0. 1H i b C

. 0.0H i R ST S S S
005:"“"“"}"r§ """ A R Rt S S 0.05H i - e oo s S e
J..\@:Illil iIIIIIIIII i 'i |i| i"i" J..\.Q:Illill IIIiIIIi | I I I

Ut | L } _____ il

. ey T "l

T 2 34 b6 789 10 0S54 B 6 7 8 9 10

=—=— DQM_TT__mkFit-DQM_pless_orig

— DQM TT__mkFit-DQM_pless_mod

" T T T CTToTeS TOOT T " T T T T ] TS 18671
0 lGih— ...... ........ ........ ........ ........ Mean 8.102 E Mean 0.5541

TR : : : : ! |Std Dev 5.116 Q.6 ----i-rrmeeriereeatiaeeaaeiiaeaanni| Std Dev 0.872
EE] R | O N T
: : : : : ' [ Mean 8.103 : : : : : ' [ Mean 0.5541
2 : : : : 0 5EL """""""""""""""""""""""""

. |Std Dev 5.115 i : : : § . |Std Dev 0.872

W o O

0.3ff i

T3==

0

T T T

s

...................................................................

i
1
iy

095016~ 20 30 40 50 6675 80 0-95

T T T T -FT
-

J-lLQ].—IIIIIII | llil"'i""i'"'i""i""i .L\-Q

H L

.‘
FTT T =

10 20 30 40 50 60 70 80

o
o



	Contents
	Page 1


